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SCIENCE
(Hindi & English Version)
[Total No. of Questions: 23] [Total No. of Printed Pages: 08]
[Time: 03 Hours]. _[Maximum Marks: 75]
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Hel# FF ¥ a1 S I &1 .
(vii) T IaeIw B W 7 AmiEd AT a7/ o -
Instruction - -

(i}  All questions are compulsory.

(i)  Question number 1 to 5 are objective questions, one mark is assigned for each
question, total questions are 30.

(iiij) Internal options have been given in question number 6 to 23.

(iv) Question number 6 to 17 are very short answer questions. Answer each
question in approximately 30 words. Two marks are allotted for each question,

(v)  Question number 18 to 20 are short answer questions. Answer each- question
in approximately 75 words. Three marks are allotted for each question.

(vi) Question number 21 to 23 long answer questions. Answer each question in
approximately 120 words. Four marks are allotted for each question.

(vii) Make clear and labelled drawings where necessary.
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@) 6 @ 7 @) s (3) o
(iii) m?ﬁa&wﬁmiﬁmamﬁwwzﬁrﬁmﬁﬁmmm#m
Bl 87

@) TR @) TR (@) TN (3) ArRifR
(iv) 79 & ¥R ¥ s WY orge oR) o €7

@) 22 W€ @) 20 WD (@) 23 WS () 18 WS
(v) Wmﬁﬁé?maﬁwma%mwmﬂﬁmm
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@) T o (@) o gg
(®) v oW (8) aeaa ow
(vi) Tl o=t &1 S| 9EE ® -
(@) fFelae (@) gieR (@) 3 (&) dr=

Choose the carrect option and write -
()  What is chemical name of “lime or quick lime"?

(a) Calcium oxide (b) Calcium hydroxide

(c) Calcium carbonate (d) Calcium sulphate
(i) How many covalent bonds present in Ethane?

(a) 6 (b) 7 (c) 8 - (d) 9

(i) Which hormone regulates the menstrual cycle and the

development of sexual organs in female?

(a) Adrenalin (b) Testosterone (c) Estrogen (d) Thyroxine
(iv) How many pairs of chromosome present in Human body?

(a) 22 Pairs (b) 20 Pairs (c) 23 Pairs (d) 18 Pairs
(v} What is used to concentrate sunlight in solar furnaces?

(@) Convex mirror (b) Concave mirror K
(c) Convex lens (d) Concave lens .
(vi) What is Sl unit of electric current?
(a) Kilowatt (b) Ampere (c) Ohm (d) Volt
g2 R rEn @ gid I - (1x6=8)
() FREHR AT B s 9 | T o 21
(iy <R & T Fda 7 HIRTH B T EH o WIS B 2 |
(i) ﬂﬂﬁ@ﬁ@%ﬁzﬁmwzﬂaﬁ .......................................... BiT 2
(iv) areui ¥ gfg &1 e . S 11 -1 4 = o O
(v) m%ﬁmﬂﬂwﬁﬂhﬁﬁm . e 8 weRia 2 2y
(vi) fOER & AT B AT s ﬁﬂiﬁrmﬂﬁw‘mmgl
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Fill in the i?lanks -

()  Litmus solution is extracted froM.......cieveresessessmesmmenenn,
(i) Weobtained................ by mixing nickel and chromium with iron.

(ili) Al aldehydes functional group’s formulais.......cc.cevvmnerunrinncernnes

(iv) The growth of plants is inhibited by ............... s hormone.
(V) Only .ovevveerenn, characters is show in F1 generation according

to Mendel's Law. _
A7) I instrument is used to measure potential difference.

53 Ryt el @ R ww /e Rikag - ~ (1x6=6)

() e sfafrn QA sfe o wra Bt 21

(i) faga omees ¥ e W %o I B [EAGRE DI HSA B
TSR Bed ¥ |

(iii) Qﬁwﬁﬁﬂﬂﬁwmﬁaﬁa{mﬂméﬁaﬂmﬁﬁ%m

. HEA[ |

(w) Gﬁa‘c{ﬁwﬁﬂ%'\fﬁmuﬁlﬁam%l
) Taega aRue % IRen @ forw v @1 SUANT fan Wi g

(Vi) JAE IMER HEell $T IRT STHaar § gl 2|

Write true/false for the following statements -

(i) Insoluble salt is obtained by precipitation reaction.
(ii) In electrolysis, the phenomenon of aggregation of anion at the

anode is called anodizing.
(i) Such substances which have the ability to give oxygen to other

substances are called catalysts. |
(iv) A convex mirror always forms an erect image.
(v) Fuse is used for protection in electrical circuits.

(vi) Each food chain starts from consumer.
g4 WE el femEg - (1x6=6)
Ffe| @) i ()
(i) TR " (a) e
(i) ggler (b) wrEg
(i) SRR (c) FHEESe T U
(iv) ufeaE (d) o

(v) fege (e) guw
(vi) FHe . (f) WS & g

(g) 3rArE
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Match the following - o
Column (A) Column (B)
(Y  Amylase _ (a) Ovary
(i)  Insulin (b) Hydra
(i) Testosterone (c) Digestion of carbohydrate
(iv) Pepsin (d) Amoeba
(v) Binary fission ~ (e) Testis
(vi) Budding (f) Digestion of protein
| | (@) Pancreas

wm/ﬁﬁmﬁﬁ%wa |
(i) Qa‘;ﬂ‘;ﬁﬁﬁﬂﬂmaqﬂ%mwmiﬁmﬂ%ﬁw
|

(i) aar S 7@y 22
(i) - T 1 g e

(v) =9 g3 fafag

(Vi) . W17a ¥ ¥ ufafdy @1 Pwfor sat gy 2

Write the answer in one word/sentence -

() Write the name and formula of such a compound in which two
molecules are present of water of Crystallisation.

(i) Whatis Aqua Regia? .

(iii} Write the formula of Cyclohexane.

(iv) Write the name of respiratory pigment, which is present in our
body.

(v)  Write the mirror formula.

(vi} Where is image formed in human eye?

(1%6=6)

. What is redox reaction?

3dqr/OR
TR FAHRT B Hferd @t A st &7
Why does balance the chemical equation? : :
aﬁ#nﬁmaeﬁ#a%mamiﬁfﬁﬁmaﬁ?ﬁiﬁéﬂm%ﬁﬂm (2)
Wirite the formula of baking soda and washing soda and write any two
differences between them.
| | srar/OR K
FAR — &R Wfthar aar 82 <
What is Chlor — alkali process?
Tged] SffTTES 7T B B? Ua Iareww YRR | @)
What are amphoteric oxides? Write one example also.
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" 31erai /OR ' :
Irgfs Qe 7 wEEare difrel § SeERY |ied BIg a1 R forikav |
Write two differences between ionic compound and covalent
compound with example.
Faadg Aol g1 8?7 SRV B gRI W BT |
What is homologous series? Clarify by an example.

et /OR

"
1"

(i) A (i) WEE o
Draw electron dot structure of the following -
() Bromopéntane (i) Propenoic Acid
welry Sl 9 ety ofdi @ waw fhar § #ig a1 SR faRag |
Write any two differences between the respiration process of aquatic
organisms and terrestrial organisms.
yga/OR
TR TR ¥ Y 9 oRE <a B 9E [ ARG R B & T §H
Y g8q B fewm o foRag?

Through which vessels does pure and impure blood flow in our body
and also write the direction of blood circulation in these vessels?

e diftier & amifea 7 10|
Draw the labelled diagram of nerve cell.
iar/OR

gyt fomar % Feeq @ @ YfH &
What is the role of spinal cord in reflex action?
AU FE W ¥ AW B Y WY B ST B U 99 @ e Yy e
I HEI? W BT | |
Explain which method of reproduction you will use to grow a new rose
plant in your home?

. - 3eE/0R
W 4 fran, Five @ frn 9 59 yor i 22 |
How the process of pollination is different from the process of
fertilization?

& B A oW R e @ A, g PuiRe e orka
g5y |

Draw a diagram to determine whether a human child will be male or
female. '

| 3ot/ OR N~
AMaifle e T B 87 SRV 3 e 9 falag |
What are genetic traits? Write with the help of example.

@

@)

(2)

@

@
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WWWﬂﬁmﬁwwﬁ?mW@m' I;sli
The radius of curvature of a convex mirror is 32 cm. what is its foc
length?
Jerar /OR
A A B &I B g difie | .
Define the power of concave lens.
o W 9 a1 PRy R @ 78 ST we g8 @
FARNTT B o 2
Write the ability of the eye lens due to which it adjusts its focal length.
3qT / OR-
YHTY B YHE B 7H IR gRI WL B |
Clarify scattermg of light by an example.

1T TR A R SueTer i a1l Rieg A 1 R i Bt W R

Pl 87

On which factors does the resistance of the electrical wire providing
electncuty to your house depend? -

it/ OR

2 3, 3@#36@?%%%@%%&@%@#%
[T BT Fol ek 4 3 87

How will three resistors of resistances 2 ohm, 3 ohm and 6 ohm
connect to give a total resistance of 4 ohm?

7 wataeer § Wit ofi e g @ uRwERE Hey i @ &7

Why do all orgamsms in the environment interact with each other?

a1gar/OR
mmwﬁﬁﬁaﬁﬁﬂaﬂvﬁaaaﬁaﬁﬁﬂﬁvﬂumaﬂm

HIFY |

Explain the terms biodegradabie and non-biodegradable in waste
management system.

e g o fdegs ‘A’ d B%‘lﬁaﬂﬁ'AEﬁrpHHﬁzﬁwﬁmq
‘B’ &t pH @1 13 &, T4 —

(I) fa’_\q W ﬁ H+(aq]3Tm7'[ Eﬁ 'HE‘EHT :‘Hﬁmi ﬁTﬁ?

(i) @y fema A freme TR B el 3 4 gRafia w2

(iii) Wﬁ%wﬁ%%ﬁmﬁﬁﬁmﬁmmmﬁﬁm

You have two solution ‘A’ and ‘B". The pH value of solution ‘A’ is 2 and
pH value of solution ‘B'is 13, then --

(i) Which solution have high concentration of H*(q) ions?

(i) Which solution will turn red litmus paper into blue?

(i) Which solution will be used to make soil alkaline?

Jrerar/OR

-

@ ¥

@

@

(3)
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A RN R 1 pH a2 ¢, 7 -

() =¥ R @ qi & ad & war o go & @
i) w9 Rerrt 1 a7

(il}) =19 g9 fems o affrar fed arg ¥ B 9N 2, @ T S
'f PH value of any solution is 2, then - |
(/) Gan this solution be stored in a copper vessel?

(i) How will this solution be diluted?

(iii) What will happen when this solution is reacted with a metal?
fey v o @) Amifeg A gon wQ&% W @ F fafag —
Labelled the picture given below and write the function of each part -

FEAT T 8?7 I8 Badd AaT ¥ & a4 giel 87

What is menstruation? Why does it happen only in females?

et Preve gfte <iw @ Gifdd afdd &1 ) f[ig 73 @ WM 80 @4l W T

¥ 39 AN BT IR B B oy Imavd o B Upha 9 g @ar enfr?

The far point of a myopic person is 80 cm in front of the eye. What is

the nature and power of the lens required to correct the problem?
Jrar/OR

Hi 1 fon g1 wd Yera & e &t R e e $ifg |

Explain the dispersion of white light by a glass prism by draw a

%ﬁag'wmmﬁﬁwmﬁ_mﬁ

e DI | _ | | ‘
Explain any two opposite chemical reactions with the help of chemical
equations.  https://www.mpboardonline.com

Jar/OR
o1 JBR 4 gy |
(i) e+ fieR TEge - Kid TEge + Riew e
(ii)_m@m+aaﬁ=f—>ms§m=rzraﬂm .
(iii) Riw Praftie — Rie siiwwgs + P SRS
(iv) IR FARES + TERRM Hede — RTT Tbe + MR TR

@

(3)

(@)
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Write the bal:anced chemical equation for the following and identify the
type of reaction in each case. '

(i)  Zinc + Silver nitrate — Zing nitrate + Silver
(i) Hydrogen + Chlorine — Hydrogen chloride
(ili) Zinc carbonate — Zinc oxide + Carbon dioxide
(iv) Barium chloride + Potassium sulphate — Barium sulphate

+ Potassium chloride
M RT TR @ Rt am o veemes W fRiRey @ g9 A @

s
-

- e W 90 B uRaE g 31 W IR §Y ged ) fraify B Rk |

.23

Identify and write the name of different parts of the picture given below

and with the help of these parts, write the functioning of the heart by
explaining the path of transportation of blood.

sierar/ OR

=1 & BRo v Ffog -

(i) T8 B ana § <rERm R W € @l _

(i) oM A JOMgHl 9 TEQIGAIRG I BT Aol B & «i?

Clarify reason of the following - '

(i) Villi are present in our small intestine, why?

(i) Why enzymes and hydrochloric acid are produce in our stomach?
50 cm o4E B Big 89 30 cm FHal Bew & A S9a <dn @ 9
20 cm T T W@ T & | wlalde @ R, wpia 7 \ge s it |
An object 5.0 cm in length is placed at a distance of 20 ¢cm in front of a
convex mirror of radius of curvature 30 cm. Find the position of the
image, its nature and size.

s/ OR
1 oMt B W oy — .
() TP AT TUIT RT I AR +1 § |
(i) &R BT I 2.42 |
Explain the following statements -

(i) The magnification produced by a plane mirror is +1.
(i) Refractive index of diamond is 2.42,

e

@)
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